A & ol & AF & H A A
2013 & 20 A 2L BHE| K|
: 200 M4
2 210 BAFMASY
B 211 A (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
£ A 15,821,395 12,786,500 3,034,895
200 AI2l#el 533,225 290,000 243,225
210 IHEMASY 217,000 173,000 44,000
211 THar ¢ 38,000 33,000 5,000
211-02 SRWALUZ 38,000 33,000 5,000
[ 283 ] 38,000 33,000 5,000
<AL > 38,000 33,000 5,000
OZSHAERX U2 38,000
212 ABER Y 145,000 115,000 30,000
212-08 JIEIAIR R 145,000 115,000 30,000
[ 23 ] 145,000 115,000 30,000
<ALED > 145,000 115,000 30,000
O384+0 BAZE 55,000
OsgIIEtAE S A2 35,000
OIZLMAH(ZEHNSLR) A2 55,000
215 4834+ 34,000 25,000 9,000
215-01 4234+ 34,000 25,000 9,000
[ 283 ] 34,000 25,000 9,000
<ALD > 34,000 25,000 9,000
OStEAIZE H4ne2 34,000
220 LAIE A2l 316,225 117,000 199,225
228 J|Et4 ¢ 316,225 117,000 199,225
228-02 HAS UL 70,000 110,000 240,000
[ 23 ] 70,000 110,000 A40,000
<AL > 70,000 110,000 A40,000
OsFMAER A2 QX BHAS 40,000
O=EHYLR 42 2R a3 30,000
228-03 HEHE 3,500 7,000 A 3,500
[ Lersl A ] 3,500 7,000 23,500
<AL > 3,500 7,000 3,500
OALAY QABtUEHS 3,500
228-09 1242 242,725 0 242,725
[ Lesl A ] 242,725 0 242,725
<AL > 242,725 0 242,725
OZFEXNT %228 Z3AY AlLol8 223 242,725




09 i 0

oo
=38
A
B R B

H +HT o
PA FA
oy oy
oin-oin

Z2-2-8-5 Off &4 & E Ol At Hns2
500 X3 15,288,170 12,496,500 2,791,670
510 = DEX3E 13,883,000 10,815,000 3,068,000
511 =12xX=8 13,883,000 10,815,000 3,068,000
511-01 =12xX3 7,199,000 5,532,000 1,667,000
[ el A ] 7,199,000 5,532,000 1,667,000
<AL > 7,199,000 5,532,000 1,667,000
OUEH dEHEotd ZdAMY 2,500,000
OEReHS otHMels sPE+ HOISALY 3,799,000
Odigrd ngkol 2 ZEAY 900,000
511-02 29 - NAEHELEIHEXLS 6,684,000 5,283,000 1,401,000
[ Letsl A ] 6,684,000 5,283,000 1,401,000
< A& > 6,684,000 5,283,000 1,401,000
OEEIXNF &Il HUAY 200,000
OJIAE B2 SEIFAY 147,000
OAMMIIF =2 &&= THEH JIEHRIE At 200,000
OFFA HLMS(UHsH) 1,977,000
Ostg 1= =8 BXEel At 1,640,000
OsZHAA OISZTEHHIMG (MY S36t) 1,190,000
OZdY SEEHIAY 450,000
OssSa2FA ZHI3A 180,000
O=Eti+=2 FHISA 200,000
Ote Elef ~ &2t &2 SEHE 500,000
520 Al - SHIRZZSS 1,405,170 1,681,500 N 276,330
521 Al - EHIEXS S 1,405,170 1,681,500 A276,330
521-01 Al - EHIEEXZ2 S 1,405,170 1,681,500 N 276,330
[ B3I ] 1,405,170 1,681,500 A276,330
<AL > 1,405,170 1,681,500 N276,330
OUEH dEHEotd ZdAMY 666,670
Odtd S Xl 22l (330 4) 105,000
OFE1NF &8 HHIALY 25,000
Odfigtd ngo & Z4Ad 180,000
OstgiX= th=a X2 A 205,000
OA&XIF =2 &&= MO JIEHRIE At 25,000
OssaFA EHISA 13,500
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L= B
el

N & 0l & At
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Al EH
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S

g Al

A

SN - EAEA) - MRAL

01
o

Off &t 24

dEE
Off & 24

e
nx

= H1 HD o W

28,
, 199,000
,684,000

083,749

6,239

,405,170
, 789,340

22,745,

880

5,337,869

O

2IIBEAIE EHI

= H A o W

,309,034

, 799,000
,567,000

6,239
333,500

,603,295

7,472,

858

2,836,176

JIAE Esol8t =5

=

2,741,000
2,187,000

255,000
299,000

1,350,

000

1,391,000

=B A2 &L

191,000

147,000
44,000

450,

000

A 259,000

403 AXHHSH=0lA

191,000

147,000
44,000

450,

000

A 259,000

02 BI1 2SO0l CH &t CH & A& I
OJIAHS 22 EILE ALY (L=2.2km)

02

Rl

191,000

191,000

147,000
44,000

450,

000

A 259,000

EEIXF &8

= i

250,000
200,000
25,000
25,000

500,

000

A 250,000

401 AIEHIZ 2 I

= M1 0Y

250,000
200,000
25,000
25,000

500,

000

A 250,000

01 A€ HI
OZE1XF &Jlet FHlAE

= 0

250,000

250,000
200,000
25,000
25,000

460,

000

A 210,000

AAX T =2 g &E THEH I8 X2 A

= o0

250,000
200,000
25,000
25,000

250,

000

= g

250,000
200,000
25,000
25,000

250,

000




EXN: A4
o slBAle F
e JlHS Esolet 25 (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 BII2S0CHeCHEAFS I 250,000 250,000 0
OAKMIIZ =2 &2 THHI DB X3 AHS 250,000
2 200,000
== 25,000
Al 25,000
steliXl? 22X del 2,050,000 0 2,050,000
2 1,640,000
& 205,000
Al 205,000
403 XX S M S K201 & 2,050,000 0 2,050,000
2 1,640,000
o=} 205,000
Al 205,000
02 SIS0 CHSHCH S AFS I 2,050,000 0 2,050,000
OsteE X7 HEHAX A ALY 2,050,000
2 1,640,000
< 205,000
Al 205,000
sgE 22 7,112,034 6,122,858 989, 176
2 3,799,000
= 6,239
< 50,000
Al 3,256,795
25K € sgE4s22 1,169,761 1,120,798 48,963
101 Q124 H| 55,456 51,686 3,770
04 JI2ZtHIZ2 2 NEES 55,456 51,686 3,770
OAsX HEY &5 Y EEMHH A8 55,456
-3 54 5403 * 4 x 180 39,269
SIsdLE 54 5403 * 49 x 40=F 8,727
L PNE A= Eag = 54 5403 * 4 x 9¢ 1,964
-4 B2 49,958,640 * 11% 5,496
201 LBt | 256,405 13,212 243,193
01 AP 22| d| 1,440 1,080 360
OLsX SA2eld 2HAH|
2,0008 * 49 * 180¥ 1,440
02 22244l 254,965 12,132 242,833
QW2 A=l 2,000& = 400 = 3L » 180 4,320
OA & ZH SXb 7,920
- 0l F DI 60,000 = 408 = 9¥ 2,160
-WFoNY 2 5 100,000& * 404 ~ 9& 3,600
—Ot& 3l 2 55 180,000& * 4% x 33| 2,160
OEENF? U222 B2AMY AE0E 22
709 x 9 ,500€ * 365 242,725
202 044 5,400 5,400 0
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13,761

Palni:
sSHI|BHAlAE & H|
s #el CEEEED
(o
SN ED B (3H) - MEAY - BAS %@i HD=2
01 2L Hl 5,400 5,400 0
O=ZFHANEF=A Y| 3,000
Os=) A2 | 2,400
203 R F& 3,000 3,000 0
03 AIZH =X 2 F X H| 3,000 3,000 0
(@FaF~F= S& HdR2FAH| 3,000
401 Al HI L 2 0HHI 847,500 1,047,500 A 200,000
01 Al& H| 830,500 1,030,500 A 200,000
OUBr2E 22(1000 )
3,000,000 = 100 & 30,000
OsgafaAeAd 2284 600,000
OrsAgX B, B2(1004A) 100,000
OS98 YUBE FU(SSTA)AL
6,700,000 = 1504 A 100,500
03 AlIE 2 HH] 17,000 17,000 0
Os92422] AIEdE2U 5,000
Ostolithdl st =2=2&H dX=
500,000& = 8JF 9™ * 3Y 12,000
405 TR S 2,000 0 2,000
01 XAt 2 FF S| 2,000 0 2,000
OAFX FA2e o= 7
500,0008 = 404 2,000
o =& 2te| 320,180 310,060 10,120
= 6,239
Al 313,941
101 e1214| 48,000 42,000 6,000
04 J|12ZtHIZ22NEES 48,000 42,000 6,000
Obf=2 2te] 222 40,0008 ~ 8% = 150 48,000
201 LBt 70,180 68,060 2,120
01 AP 22| H| 40,080 33,360 6,720
Obf=2 HI|otA 2 AbH| 500,000) * 404 2,000
Obf£=Z Mojetd e (2
340,000€ = 1404 ~ 8N & 38,080
02 2224 30,100 34,700 A4 ,600
Otil=%& &dII=2
250,0009 * 14004 = 70HE 24,500
O2¥4=2Zd| &HlH| 60,000 = 60CH 3,600
Ostolltid]l L==&H SFUH
2,000,0008 = 14! 2,000
307 2Iz2t0| & 20,000 20,000 0
6,239
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A H|
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e 12 Mx

0K

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2ItF & E X 20,000 20,000 0
O=clH 2ZEXZ(SAL2AM) (2000 4) 20,000
=2 6,239
Al 13,761
401 AIEHI L 201 182,000 180,000 2,000
LT 180,000 180,000 0
O JIHEI S+ BAI (L2 39H
) 180,000
03 Al 20 HI 2,000 0 2,000
O2th==2 22|l Al R0l 2,000
=2 FH| 136,000 220,000 A 84,000
< 50,000
Al 86,000
401 A& HIZ 201 Y] 136,000 220,000 A 84,000
< 50,000
Al 86,000
01 Al&tl 100,000 190,000 90,000
OUS ZEXR 8422 FHIBAHL=1.5kn) 100,000
= 50,000
Al 50,000
03 Al S THHI 36,000 30,000 6,000
OBMH+Z +EHMH L ELZH X2 (L-60k
m) 500,000& = 8 S » 9 36,000
St2=sUHESAL =2 FHI 192,000 105,000 87,000
403 XIS E X201 & 192,000 105,000 87,000
02 B 2SOICHESHHE ALY 192,000 105,000 87,000
OZti+2 ==HH ¥ E4&(L=110km) 55,000
OELH ERHI=+=Z KX 2l 37,000
O Xt =& =Xl 22l 50,000
O8ti+=2 HESAMY 50,000
R84S staHels SU8S HOISAY 5,294,093 3,463,000 1,831,093
= 3,799,000
Al 1,495,093
401 Al HIZ 201 I 5,294,093 3,463,000 1,831,093
= 3,799,000
Al 1,495,093
01 A& HI 5,121,186 3,313,000 1,808, 186
OFRsts ot=Hels sPE+ HOISAY 5,121,186
= 3,674,852
Al 1,446,334
02 Zeltl 167,907 150,000 17,907
OFRs= ol=Hel sEE MOISAY 2
EIR= e 167,907
= 120,558
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FClAE HE =AY
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= M e

216,000
180,000
13,500
22,500

216,000

401 AIEHIZ 2 CHYI

> H oK

216,000
180,000
13,500
22,500

216,000

01 A& HI
Oss2F8X FHI B AH(L=55m, H=15m)

= M1 0E

216,000
216,000

180,000
13,500
22,500

216,000

= M08

240,000
200,000
15,000
25,000

240,000

401 AIEHIZ 2 I

> oK

240,000
200,000
15,000
25,000

240,000

01 A& dl
O=Eti=2 HHIZA(L=1.2kn)

= g

240,000

240,000
200,000
15,000
25,000

240,000

= H®

,243,300
, 117,000

100,000

,026,300
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17,300

1,026,000
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2N

XM == WA &2
S sE IFIE S EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L Hl 2,000 0 2,000
O=2%H 289 Id2=x=A (bl 2,000
203 € R F&d| 10,000 10,000 0
03 AIEH =& 2 F X Y| 10,000 10,000 0
O=2%H| 289 24Xt 10,000
401 Al HI L 2 0HHI 2,549,000 2,700,000 A 151,000
2 1,977,000
Al 572,000
01 Al&H| 2,539,900 2,690,000 A 150,100
HEH LA (HsH) 2,539,900
2 1,969,940
Al 569,960
03 AlE 21| 9,100 10,000 A 900
OFF=A HEYAIY Al&E=201Y] 9,100
2 7,060
Al 2,040
SIZTMAA Ol S YA 1,547,000 1,983,000 A 436,000
2 1,190,000
Al 357,000
403 XX EHHS R 20| & 1,547,000 1,983,000 A 436,000
2 1,190,000
Al 357,000
02 2J| 2 S 0l CH St CH & AF H 1,547,000 1,983,000 A 436,000
OFZTAEAA JISZSSHUIAMY (Y 25}) 1,547,000
2 1,190,000
Al 357,000
&= gl2l(Healing)0tSBHE D] 900,000 0 900,000
2 450,000
Al 450,000
403 XX SHHS K201 & 900,000 0 900,000
2 450,000
Al 450,000
02 SIS0 CHSHCHEH AFS HI 900,000 0 900,000
OTAAUA ESHHIAIS (EE &2H0IS =Pl
) 900,000
2 450,000
Al 450,000
AR FO0=R ALY 5,235,300 4,524,300 711,000
2 500,000
= 100,000
Al 4,635,300
HE I S22 1,020,000 920,000 100,000
305 HHAa=2S 5,000 5,000 0




A R =y
F: sF WA 28
Sl ARD FoS ALY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 tHaf=S 5,000 5,000 0
ORY0lSs a3 45 tiad=s S 5,000
401 AIEHI L 2] 1,015,000 915,000 100,000
01 A& Bl 1,000,000 900,000 100,000
Olol2EX 243 10,000,000& * 10Z X 100,000
Oz ¥ W23 EHI(50002) 900,000
03 Al S THHI 15,000 15,000 0
OEXNZE & =z4++2(302X) 10,000
OHlg&dE=z |sA&el AE2Ul 5,000
278 XNEhg 2,050,000 909,000 1,141,000
& 500,000
< 100,000
Al 1,450,000
401 A& BIZ 201 8] 1,870,000 909,000 961,000
& 500,000
< 100,000
Al 1,270,000
01 A& HI 1,870,000 905,000 965,000
Ostedd 830t Y= FHI(L=350m) 120,000
Oggds =234 (L=83m) 150,000
Osted Elefi~aDI2 &2 S X (L=1.17kn) 1,000,000
= 500,000
Al 500,000
OXZE &0t == HHI(L=535m) 300,000
< 100,000
Al 200,000
OstgdE40E &gz Hl 300,000
403 X EHHSH20lA 180,000 0 180,000
02 S| 2 S0il CH&HCH & AF B 180,000 0 180,000
OERE310 SZBOX HIAIH A ALSHI 180,000
A&7 2 12,300 12,300 0
201 Yere2 | 7,300 7,300 0
01 At 22l 7,300 7,300 0
OJlgns WMelHHl 5,0008 * 150% * 23] 1,500
OLANERE &
100,000& * 10¥ * 53] 5,000
OJlgns Mg 400,000 = 23 800
202 Odl 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
Oz&ll=s gRFANHI 5,000
A2 FOUSIAAL(5HE) 2,153,000 2,683,000 A 530,000
201 Zet24E] 8,000 8,000 0




SN AL
My =& IWKE 28
S9l: ARD FUEH ALY

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 8,000 8,000 0
OQEHAUSA HEHIA =5 2 8,000
— 10t A 10,000 = 5002t 5,000
—-hEIAA 5,000& * 500& 2,500
- 18aA 1,000 = 500& 500
401 AlEHIZL 2 0HY| 2,145,000 2,675,000 A 530,000
01 Al&H| 2,140,000 2,675,000 A 535,000
Oltserd & Xz AHH|(4704) 1,320,000
O - ti2=2 HH|(23M2A) 800,000
OEXZHE & =222 (502 X) 20,000
03 Al 20| 5,000 0 5,000
OAlE S0t 5,000
NEWE &5 42,920 61,776 N 18,856
2R AEH EA 42,920 61,776 18,856
ZENLE A2 2T A AEHE A 15,000 25,841 A 10,841
201 et 8,000 8,000 0
01 AP 2t 2] H| 8,000 8,000 0
O=ZF Mo S22 8,000
202 04| 7,000 7,000 0
01 2L I 7,000 7,000 0
OAHEHY HRF=A | 7,000
SELEAMAMEL A2 2T AEH T AL 27,920 35,935 A8,015
101 2124 H] 23,920 20,935 2,985
04 JI2ZtHIZ22NEE S 23,920 20,935 2,985
O2KMA HelBd & LU AEfX AL O
29 23,920
-Jl2=2 1,028,000& = 18 = 12& 12,336
—AHZ200122d) 12,336,000& * 4/12 4,112
- xE2AaZ2 49,301 = 1™ x 10¢ 494
- A2t 2R
9,244 « 15AI2F » 1 % 12€ 1,664
- 34| 130,000& = 1Y = 128 1,560
-G E S|
1,028,000& = 0.6 ~ 1& = 23] 1,234
- NsE8 XY 130,000 = 1Y x 12&€ 1,560
-JIEx4 80,000& = 1Y x 12& 960
201 et d| 4,000 15,000 A 11,000
01 AFR 2t 2| H| 4,000 15,000 A 11,000
O=Zg M s 2 200,000& * 20 X| 4,000
staEel RIS Zst 6,987,000 5,792,372 1,194,628




EXN: A4
Mz pIAEQ DRIIs 2t
ChRl: T AGHE A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 3,400,000
= 971,670
Al 2,615,330
T ASHE A 62,200 35,000 27,200
T AGHE &EH| 62,200 35,000 27,200
201 LBt Y| 22,200 15,000 7,200
02 2224 H| 22,200 15,000 7,200
Qdliegtd XHE HI|IL23(500F)
2,500€ x 500 » 12€ 15,000
OUsEd 24+ 22 MII23
500,000& = 12€ 6,000
Ogdtd Xg9eg dIIe=2
2,5008 * 40F ~ 128 1,200
401 AlEHIZL 2 0HY| 40,000 20,000 20,000
01 Al&H| 40,000 20,000 20,000
O AGHE AU (T AISHE 40HA) 40,000
2 H Sl A 610,000 750,000 A 140,000
= 125,000
Al 485,000
ol |Xl &2 250,000 350,000 A 100,000
= 125,000
Al 125,000
401 AlEHIZL 2 0HY| 250,000 350,000 A 100,000
= 125,000
Al 125,000
01 Al& H| 250,000 350,000 A 100,000
Odt& S X2l (334, 213.4kn) 210,000
= 105,000
Al 105,000
OXleotd EXE A 40,000
& 20,000
Al 20,000
SI2=Z=ZAF =& fE 22 360,000 400,000 A 40,000
403 XX SHHS K20 & 360,000 400,000 A 40,000
02 BII2SHCHSHCHE AFS HI 360,000 400,000 A 40,000
OS2, oleH, AOHH =2 2 Ehate] 55,000
Osteltli=& e 22 305,000
of & XH o Ol & 6,314,800 5,007,372 1,307,428
= 3,400,000
= 846,670
Al 2,068,130
ofd JI&H & MY 22 &l 648,130 627,872 20,258
101 e1214| 274,898 269,790 5,108




2N
X ZH -
L= B

el

ol ry

jelyell

=i,
o DRIls &t
& TH o Ol &

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNEE 274,898 269,790 5,108
OolEAIE KX 222 (R BHE) 16,377
-2 69, 100& » 1 = 1902 13,129
- R25dsY 69,100& » 19 » 383 2,626
R PR A= Ry 69,100& » 1H » 9 622
OodlEAIE X222 (2 20Y) 258,521
-Ja2 54,5403 * 20 * 190 207,252
- F=25dsE 54,540 * 20 * 38%F 41,451
s PR =Ry 54,5403 * 20 * 9¢ 9,818
201 Bt A | 77,732 63, 182 14,550
01 AP 22l Yl 20,980 10,000 10,980
Ootda=EX&™ Hyl ¢ 30® H&
500,000& = 1094 A 5,000
OHHLX L QMM 5, 28 5 242
200,000& * 40Z X| 8,000
Odtd 22| & 2tAH| 2,000& = 21 = 190 7,980
02 3294l 56,752 53,182 3,570
OH ZHl 18,032
-0l 2,000& * 20CH *= 3L x 15 * 8& 14,400
—OkMIl 2,000& = 10H = 20L = 102 = 8& 3,200
-NsE 2,000& = 30§ = 3L = 32 * 8 432
OAI& &H| X 38,720
-0HI A 15 60,000& = 21CH * 8& 10,080
-0Folg 2 55 100,000& = 21CH = 8& 16,800
—-ot&G 2 58 180,000& = 21¥ * 33 11,340
— M D 500,000& = 1CH + 13 500
202 04| 3,500 3,500 0
01 2LHOHI 3,500 3,500 0
Odtd &2|AY SR =X 0| 3,500
401 Al HI L 2 THHI 290,000 290,000 0
01 Al &bl 250,000 250,000 0
Oz ot&EIJIAEM ZEHIAFY (31IHA/169. 1km) 200,000
OMe 212 AdIdl (31002 /169. 1km) 50,000
03 A& 20 b 40,000 40,000 0
OXg2= ol HUIAMY AIE=20U4| 10,000
OMaoHtidl ot& 213 & 8l &Hl Lxs
500,000& = 60CH 30,000
405 XhAHE S| 2,000 1,400 600
01 M =S FSHI 2,000 1,400 600
OMg EHIDIS oI =+ 500,0008 * 404 2,000
MEHSIE XM ALY 4,166,670 3,166,500 1,000, 170
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el
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[e]]
o
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0z

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= Hn W

2,500,000
666,670
1,000,000

401 AIEBIZ 2 THBI

= Hn

4,166,670
2,500,000

666,670
1,000,000

3,166,500

1,000, 170

01 A€ HI

Ot dEiotd A

02 Zeltl

OUEd dEHotd ZHEAY Zealbl

03 Al 2 HHI

OB E HMEHoIE ZHAY AIZR0H

=z N W = H W

= M W

,863,670

,863,670
,318,200
618,190
927,280

297,000
297,000
178,200
47,520
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